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1,000,000& 1,000
OBEAATL U FENRY 2FH| X
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Od&d &M Healdl X& 1,000,000& 1,000
04 SIFBAEE 0,000 10,000 0
oSelsel - 22lE BHOIY HA ZHIX
10,000,000& 10,000
EotAd S22 1,001, 141 63,631 937,510
101 eIty 10,641 9,331 1,310
10 JIZAHN22ASES 10,641 9,331 1,310
OSES A2 2te| 10,641
o QIfY 32,0003 1 %233 7,456
oFXt=+¢ 32,0003 1 48! 1,536
cAHAXt=E 32,0002 x 18152 480
o=x0lIgs S 4UH2E= 8,992, 000& *13% 1,169
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01 AtR2cibl 12,600 2,000 10,600
Ogtt=ZH| 6,000,000& 6,000
CER ] 6,600,002 6.600
02 =329 25,500 12,000 13,500
OBZRILHA 17,000, 0002 17,000
O =H| 4,500,000& 4,500
OANE YIS 4,000,0002! 4,000
401 AIEHIZ =0 950,000 40,000 910,000
01 AlI&HI 944,330 40,000 904,330
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894,330,000 894,330
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03 AlZ=01dl 5,670 0 5,670
O SABIFHA 22U (2E, OHEME)
900,000, 000& *0.63% 5,670
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307 SI2t0lH Al 6,250
02 PIAHAMEXE 25,000 25,000 0
OROPI= NsES N 10,000,000 10,000
< 7,500
Al 2,500
ORI 2aes N 15,000,000 15,000
< 11,250
Al 3,750
SHIANZHE XY 11,000 12,000 A 1,000
= 5,500
Al 5,500
307 SI2t0lA 11,000 12,000 A 1,000
= 5,500
Al 5,500
02 PIHAMEE 11,000 0 11,000
ORHBHXE M= X 11,000,000 11,000
< 5,500
Al 5,500
- 20,000 10,000 10,000
= 20,000
307 QI2t0lH 20,000 10,000 10,000
= 20,000
04 BIFBAIEE 20,000 10,000 10,000
OAl - 2 S50 E A Wzl 2]
20,000,0002 20,000
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= 9,750
= 4,875
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020008 AFSI 250 S LS KIXHH B2 A
o 19,500,0008! 19,500
= 9,750
< 4,875
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solss2 29 1,194,400 558,088 636,312
p 48,000
Al 1,146,400
230 zsn 22l 824,400 327,088 497,312
101 o124 3,200 2,388 812
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32,0002 +5% x202! 3,200
201 Yer2y| 161,700 147,700 14,000
01 A2l 19,200 16,200 3,000
oYersgH| 8,000,000 8,000
ozl 6,000,000 6,000
oUxte 5,200,0002! 5,200
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OBZLILMA 53,500
oXMIL05 » HEal 3,500,000 3,500
o2350&52 222 50,000,000 50,000
o%ZH 20,000,000 20,000
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206 M=l 2,000 1,500 500
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oStz BPRe L FH XY
FRIP Y 2,000,000 2,000
401 AZHI L2 583,000 119,000 464,000
01 A& 579,076 119,000 460,076
OUZHY EU2 D 40,000,00024 40,000
ORUEY CIBisl2 DA ¥ 54
218,416,0002 218,416
OAA SHYSTA 15,000, 0002 15,000
OUZHE 20 A0l B
99,100,0002 99, 100
OSEEIAE 2g A 8,000,00024 8,000
ORUSHIY LA 198,560,0002 198,560
03 Al&=oHyl 3,924 0 3,924
ORUZEY CNslz DA ¥ =&
220,000, 0002 *0.72% 1,584
OUZHE 20 A0l WA
100,000, 0002 *0.90% 900
ORHSE Y DA 200,000, 0002 *0.72% 1,440
405 TAHF S 71,500 56,500 15,000
01 XAUSEHSH] 71,500 56,500 15,000
oZelE P 3,000,00024 3,000
OB FYS 24 2HZ 7Y
35,000,0002 35,000
OUZToE YIRME 7 30,000,0002 30,000
OZoE BUES 2 70,0002 5071 3,500
Zoic BE 2oyl 250,000 231,000 19,000
301 YA 250,000 231,000 19,000
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o343 - NME 179,000, 000& 179,000
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o & Al 10,000, 000& 10,000
o2& et 5,000,000& 5,000
o= 4,000,000& 4,000
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oM elo| 15,000, 000& 15,000
SRS RIS 10,000,000& 10,000
202 T2 ) XA 120,000 120,000
J| 48,000
Al 72,000
301 LEt2AS 120,000 120,000
J| 48,000
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©2009E X2 218 N3
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Al 72,000
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= 78,000
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SIS H=x=0|8t 400,000 300,000




el R
SN B= Y M5
SR B (St &)
SA - EH .S (BH) - MBAY - B gggf; HRS2
2SN &=D|8 2= s 100,000
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g 100,000
== 50,000
Al 250,000
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OFRE23M A2t HE 389,560,000 389,560
iy 97,390
o= 48,695
Al 243,475
02 Ze2lbl 7,560 0 7,560
OFRE23M M2t HE
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rag 1,890
o= 945
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03 Al 208l 2,880 0 2,880
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== 16,850
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& 16,850
Al 16,850
02 QI2HEAMNEX 33,700 31,200 2,500
OFRSE23M d&50=H 33,700
o BREH| 6,000,000%! 6,000
< 3,000
Al 3,000
oJllls ERA 25,200,000& 25,200




A 232
M 2 B2E L AHS
& 2aRe BE (cro|: ® e
SN -ZH A (ZH) - MFAY - BES O AFH gl/liafﬁ Hos
(= 12,600
Al 12,600
od=asl 23| 2,500,000& 2,500
= 1,250
Al 1,250
SEEe M SH A K& 3,720 3,720 0
& 3,720
307 glzZtold 3,720 3,720 0
= 3,720
02 QItFAE X 3,720 3,720 0
ORE =23 M SIHHAEl XI& 3,720,000 3,720
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= 12,000
& 4,200
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01 A&l 24,000 100,000 AT76,000
OZJI23 M SAHZE JIE Y 9
24.,000,000& 24,000
2 12,000
= 4,200
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S5 BE U A
2o BE cHol: &l 2
_ _ _ Muo
SN HY . C(EH) - MRAY - BYS Ao il b o B2
2sgae= 11,000 1,500 A500
01 YsrBAZ 1,000 1,500 A500
10 BAAHIZAS 1,000 1,500 2500
OS5 N0l DREA AELA
1,000,0002 1,000
401 AlEHIL 20| 10,000 10,000 0
01 Al&H] 10,000 10,000 0
CELIE-HEIN 10,000, 0002 10,000
sSsuesds B2 300,000 300,000 0
402 QIR+ OIF 300,000 0 300,000
TS 300,000 0 300,000
OANEESD R NS 300,000,0002 300,000
S N L 22 82,400 112,400 30,000
01 YurBAZ 18,600 18,600 0
12 JlErEAa 18,600 18,600 0
OISESN HEOHIQBM, 12752
10,800, 0002 10,800
OINMBLY HAM BH3 7,800,0002 7,800
307 eI2tolH 63,800 63,800 0
02 SIABNBE 63,800 63,800 0
OFZE - AT 2X=% KA
800,0002 x2 * 122 19,200
oD & =) SAFUH Ml X
8,000,002 8,000
OTHMR EEHaL X2 1,000,0002 1,000
OFWA ZSH Y X & 1,000,0002 1,000
OB HEX Rl X
1,000,0002 1,000
OFZF - 4HL A=Y HLDSY 29
Hl X 15,800, 0002 15,800
0NN HADIZ 24 X
15,800, 0002 15,800
ONESHSHM(IIMQBU, 12759
Tzoly X 2,000,00024 2,000
BBCA B4 6,206,633 4,373,436 1,833,197
= 3,750
= 1,140,000
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_ _ _ Muo
SN FHH S (3H) - HREAY - BES Ofl &+ 04 Sl ko HRs2
| 8,400
& 418,692
Al 4,635,791
B QI HE 787,095 692, 194 94,901
= 3,750
| 8,400
= 55,534
Al 719,411
ME2E EE 448,836 551,503 A 102,667
101 Q24| 13,018 10,003 3,015
10 JIANEENsS2S 13,018 0,003 3,015
OMFEEDBY - HABZOHHL 22 3,018
o 0l1£ e 32,0003 »2H x150Ld 9,600
oFXtd 32,000 x2ZH +30 1,920
o203 S 4URYE
11,520,000 *13% 1,498
201 Let3H| 310,218 223,900 86,318
01 A= 2ell 112,560 86,200 26,360
OZet=EH| 110,880
oNETE BZEEW B2
10,560, 000& 10,560
oRBRSY U 2B EES ME
20,000, 000& 20,000
ozt&otE M & 25,000,000& 25,000
oKESX5HE FasR HER
21,120,000& 21,120
SUTDBEDY HNER HHE
13,200,000& 13,200
cUME 2ZtUHE WX 10,000,000& 10,000
BB BEHTA 22BE 29
6,000,000& 6,000
oA ZZEE LEt-EH| 5,000, 000& 5,000
CEEL] 1,680,002 1,680
02 =294l 134,658 126,200 8,458
OB3 =2 A 133,458
cUFUEEE LS 2RI 3,120,000& 3,120
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SN 2D
M BTN F4
Sh9l: B Qo) HE (St5: & 2)
_ _ SIEN
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o bRz
SOIZE MIINBR 12,000, 0002 12,000
CNHTHRIBR L H+SH ®II23
114,000,000% 114,000
SN BHHFA MYIIZE 7Y
4,338,0002! 4,338
O X+ 4 Bt 1,200, 0002 1,200
03 A2 63,000 11,500 51,500
ORZURX B0 Xt 5,000,00024 5,000
ozIY B 20,000, 0002! 20,000
0AE EM E2RA &7 8,000,002 8,000
os=EI L F ol FI}
30,000, 0002 30,000
202 o1t 12,000 15,000 A3,000
01 =UHolbl 12,000 15,000 3,000
ORAET O 2,000, 0002 2,000
01 YsrBAZ 19,600 11,600 8,000
10 BAAHIZ A3 17,600 11,600 6,000
OAEHBZ21ARS HTK A8t
3,600,000 3,600
ORBOAUTIAZA BOIK AL
4,000,0002! 4,000
ORFY SO HIIN AUIBA
10,000,000% 10,000
12 JlErE A 2,000 0 2,000
OOFZIZIE 0|0/ B2 AR AN
2,000,000 2,000
306 =22 10,000 10,000 0
01 213 10,000 10,000 0
CWENEEPNETY=IE I
10,000, 0002! 10,000
307 BI2t0IH 64,000 61,000 3,000
00 LAANBE 51,000 31,000 20,000
ORPHE 222 HX X
20,000,0002 20,000
O'AE - HHEM X' RERS 222
RIZ X2 10,000, 0002! 10,000
oHlZH BAHO E22 HE N
1,000,0002! 1,000
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Zat2-Z
A S
B2 olmp) o5 CLE-E
A BB O(B) - NEAY - BAS sy e RS2
ozZM R HEN 20,000, 000& 20,000
05 BIZIRIEZ 13,000 10,000 3,000
Ok - AT &5 822 29 13,000,000& 13,000
401 Al &BI=20HYI 20,000 130,000 A 110,000
01 Al&H| 20,000 130,000 A 110,000
O Z0I0IX =4 20,000,000 20,000
geiii==2% 2l 121,959 95,191 26,768
101 Q24| 9,764 12,591 N2,827
10 JIZtH22ASE 9,764 12,591 A2,827
oii==% H3t 9,764
ool 32,0003 x5 x50 8,000
oFXtrg 32,000& x5H x4 640
o=0lHga s 404 8,640,000 *13% 1,124
201 Letd| 10,195 10,600 A 405
01 At 2eld] 5,695 6,100 A405
OF=1=d:] 3,000, 000& 3,000
(©FIpNy= 2,695,000& 2,695
03 SMAI2ZHI 4,500 4,500 0
OoHH=H At 2 3,000,000& 3,000
OdiH=H &EHl & 1,500, 000& 1,500
307 2IZ2t0lA 72,000 62,000 10,000
04 QIZHHAIE X 72,000 62,000 10,000
OSHHEHM SAZHI 72,000,000& 72,000
401 Al &HIZL2C0HYI 30,000 10,000 20,000
01 A&l 30,000 10,000 20,000
oggdlici==2& A& 2=+ 10,000,000& 10,000
O LU= HMAY 2 ES
20,000, 000& 20,000
UM A RE A 87,500 27,500 60,000
= 3,750
& 1,250
Al 82,500
201 Lt 7,500 7,500 0
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o i
> o

[H =

WA
0k O fo

r

0
J 0X

o

ol

. SR () - ARAL

o
=

22
J2

HO

Upte = 3,750
< 1,250

Al 2,500

NI 7,500
ot 7,500

=2 3,750

= 1,250

Al 2,500

Al HIZ 2 ThH] 80,000
A& H] 80,000
ot 20,000,0002 20,000

ot 60,000,0002 60,000

= 27,000

p 8,100

= 3,984

Al 14,916

UstE A 27,000
p 8,100

= 3,984

Al 14,916

2o 27,000
SHRMHLA BS 27,000,000 27,000
p] 8,100

< 3,984

Al 14,916

= 224 & 1,800

p 300

= 300

Al 1,200

Upre | 1,800
p 300

= 300

Al 1,200

EETEIR 1,800

B
2

=2




Z o2t
A S
2P omo =5 crol @ el
SN -ZH A (ZH) - MFAY - BES Aol a4 Hlw &2
- o= T ° . [= Bl e =5 0:”/‘l|_% Lsa
OZ st ZoE A S By
1,800, 000& 1,800
| 300
= 300
Al 1,200
HOEY 22 X3 2= 100,000 0 100,000
& 50,000
Al 50,000
401 Al &BIZ20HYI 100,000 0 100,000
& 50,000
Al 50,000
01 Al&H| 100,000 0 100,000
OZ &2 Photo zone& Xl 100,000, 000& 100,000
= 50,000
Al 50,000
Zot2tZ AR JHg 985,938 1,181,242 A 195,304
2ZAIE= 22 65,938 111,242 AN45,304
101 eIAH| 12,938 11,242 1,696
10 JIZHHZ22NsSEs 12,938 11,242 1,696
CANEZE 22l 12,938
ool 41,7803 x2F 120 10,028
oFXtg 41,7803 x2H +17L 1,421
o203 S 4UEEE
11,449,000 *13% 1,489
202 OdHl 3,000 0 3,000
01 =UWobl 3,000 0 3,000
O&2=F0HI 3,000, 000& 3,000
401 Al &BIZ20HYI 50,000 100,000 250,000
01 Al&b| 50,000 99,460 A49,460
CA1E 2FANEE 2 50,000, 000& 50,000
FEHWNISE =XE &2 790,000 70,000 720,000
401 A 4HI=20HYI 790,000 70,000 720,000
01 A&l 785,023 70,000 715,023
OMFELZHISA F=Xt
785,023,000& 785,023
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2A: 2322
M AACA A
¢ S22 HA Y CER:E
_ _ _ HEC
2N -3 - c2(3H) - NEME - HES 0] AFCH bﬂ/‘\_“’” Hns
03 Al&20iY] 4,977 0 4,977
OMNMIZHUISE FIE &
790,000,000 *0.63% 4,977
AEZIHUNSE =ARUAX 30,000 0 30,000
401 AEBIL20Y 30,000 0 30,000
01 Al&H] 30,000 0 30,000
OMFAZHNSE =AU Bt XA L
[2HE 29 30,000,000 30,000
SAZEIX PR FUHE M 100,000 0 100,000
401 AIEHIYLS20HYI 100,000 0 100,000
01 Al&Hl 99, 100 0 99, 100
ogy&LIP =& =4 99, 100,000 99, 100
03 A& S0ibI 900 0 900
OELZLEIF =X& =4
100,000, 000& *0.90% 900
oot HE TS 4,433,600 2,500,000 1,933,600
iy 1,140,000
== 363, 158
Al 2,930,442
AlOFAAT XM 500,000 1,000,000 500,000
401 A AHILE20HY] 500,000 1,000,000 500,000
01 Al&H] 496,400 993,700 497,300
Oalot&:2X =4 496,400, 000& 496,400
03 A& S 0HbI 3,600 6,300 N2,700
o4t X4 500,000, 000& *0.72% 3,600
HE S SSALS 3,783,600 1,100,000 2,683,600
g 1,140,000
& 363, 158
Al 2,280,442
401 AIEHIZL =204 3,783,600 1,100,000 2,683,600
g 1,140,000
= 363, 158
Al 2,280,442
01 Al&H] 3,774,744 1,096,220 2,678,524
od&elsd SAFAMY 3,271,144,000& 3,271,144
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SN 2B
Hu: 2BCA R4
el Lol RBUE R (9l &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 Sl ko HRs2
I 1,136,918
= 362,184
Al 1,772,042
OMTILFY TN HI(3,340m)
503,600, 0002 503,600
03 Al&=CH] 8,856 3,780 5,076
OselY BRAGAL
3,280,000,000& *0.27% 8,856
3,082
= 974
Al 4,800
MEHI E202Z X HEALS 150,000 400,000 A250,000
401 Al &HIZ 204 150,000 400,000 A 250,000
01 AlZ8] 148,920 397,120 248,200
OHIEX+ &2&ZX =4 148,920, 000& 148,920
03 Al&=CH] 1,080 2,880 A1,800
OHIEXT BRX X4
150,000, 000& *0.72% 1,080
HY2IZH (2322 1) 163,251 161,022 2,229
ol 2oy 91,851 86,222 5,629
ol 2| 91,851 86,222 5,629
101 el | 87,651 82,022 5,629
09 RIAHAZZIES 87,651 82,022 5,629
O2stal & SFEAAZ 22 (2Y) 28,000
=J|IE2=s 32,0003 2 255 16,320
cal= 16,320,000 *4/12 5,440
o2EINMB 16,320, 0002 * 10% 1,632
ocxr=ssgdsrd 32,0003 »2H 52 3,328
NP = 32,0002 %22 *202 1,280
odzzE B2I(12) 18,281
ol=a 41,7802 *124 #2552 10,654
SE G 10,654,000 *4/12 3,552
o2EIHZ 10,654,000 *10% 1,066
ocranrdsrd 41,780 x1H 52 2,173
cXtY 41,7803 »1H 20 836
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2AM: 2otz
I HHRHAH (22 )
chol: o2l 2ot (SHol:®el)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
ORUEEA(1Y) 23,089
SPIR= 43,5303 x1H +255 11,101
S 11,101,000 *4/12 3,701
o2=EIHAZ 11,101,000& *10% 1,111
ocxrssdrd 43,5303 x 1 52 2,264
ocHIXrE 43,530 x 120 871
oAt 2R 8,170& 20 12 1,961
ozl 7,000& 20 12 1,680
o W=l 400,000 400
O=2sttl=sl & FA=el(1%) 18,281
SPIEt= 41,7803 x1H +255 10,654
o3 10,654,000 *4/12 3,552
o dHIAZ 10,654, 0003 *10% 1,066
ocxREsdrd 41,7803 » 1 »52 2,173
cHXtH 41,7803 x 1 »20 836
203 SR F&H| 4,200 4,200 0
04 BEM2IIRFLEL 4,200 4,200 0
ORN2Y gRFAY| 350,000& x12& 4,200
Jl=3&Hl 71,400 74,800 A 3,400
Jl2Z | 71,400 74,800 A 3,400
201 L3 9,000 10,000 A 1,000
01 AtR2teltl 9,000 10,000 A 1,000
Oget=EZH| 7,000,000& 7,000
OF==1:] 2,000, 000& 2,000
202 O4dl 62,400 64,800 A 2,400
01 3L 62,400 64,800 A2,400
OUHE=E0HI 62,400,000& 62,400
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